
PART – A 

I. Choose the correct answer (Each question carries 1 mark). 5x1=5 

1. Alternative use of resource give rise to the problem of  

(a) Rights    (b) Price   (c) choice   (d) Quantity  

2. Difference between the largest and the smallest values of a variable is called as  

(a) Class interval   (b) Range   (c) Lower limit   (d) Upper limit  

3. Percentiles divide the distribution equal into 

(a) 100 parts  (b) 75 parts   (c) 25 parts  (d) 50 parts 

4. The institution which regulates the technical education in India is  

(a) NCERT         (b) UGC  (c) AICTE  (d)ICMR 

5. NABARD was set up in  

(a) 1947   (b) 1970   (c) 1982  (d) 2006 

 

 

II. Fill in the blanks by choosing correct answer from the bracket. 5x1=5  

(Each question Carries 1 mark.) 

(Spatial classification, Renewalble, Statistial, Railways, British, deforestation) 

6. Data classified according to geographical area is called   

7. ________ tools are important for us in daily life and are used in the analysis of data pertaining to economic 

activities. 

8. ___________ Transport is considered as the most important contribution of British rule. 

9. Forest is ———- resource 

10. The opening of Suez Canal intensified_______ control over India’s Foreign trade during Colonial rule. 

III.  Match the following (Each question Carries 1 mark)   5x1=5 

11.  
 

 

  

 

 

 

IV. Answer the following questions in a sentence or a word. 5x1=5   

(Each question carries 1 mark) 

12. Give an example of non food crop. 

13. Calculate the Mode from the following data. 

 

X 15 10 12 25 35 5 36 32 28 15 48 15 

14. What are the capital goods industries ?  

15. What do you mean by outsourcing ?  
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a) Telephone interview  

b) Median  

c) CPI  

d) Gender equity  

e) Money lender  

i) Consumer Price Index 

ii) A positive development  

iii) Non- institutional source  

iv) Positional value  

v) Relatively low cost  

vi) More expensive 



I PUC Mock Paper - 1 January 2025 Economics                                                                                               2 
 

16. Who introduced the Great Proletarian Cultural Revolution ?  

 

 

PART – B 

V. Answer any three of the following in 4 sentences each. 3x2=6  

(Each question carries 2 marks) 

17. What is class frequency ?  

18. Give the formula to find midpoint ?  

19. Interpret the values of r as +1, -1 and 0. 

20. Mention any two core industries used in construction of Index of Industrial Production ?    

21. Write the first four steps in developing a project .  

 

VI. Answer any four of the following in 4 sentences each. 4x2=8  

(Each question carries 2 marks) 

22. Write the two advantages of small scale industries.  

23. Mention any two objectives of  trade policy reforms .  

24. List out the important export goods of India before Independence.  

25. State the need of investment on human capital  

26. Name the institutional sources of rural credit. 

27. What do you mean by carrying capacity of the environment ? 

 

PART – C 

VII. Answer any two of the following questions in 12 sentences each. 2× 4 = 8  

(Each question carries 4 marks) 

28. Briefly explain how Statistics help to study Economics. 

29. Explain the components of table.  

30. Draw scatter diagram and conclude about correlation. 

 

X 10 20 30 40 50 60 70 80 

Y 25 20 25 35 40 35 50 45 

31. Calculate Index numbers from the following data by Laspeyer`s method. 

 

Commodity Q0 P0 P1 Q1 

A 5 8.0 10 11 

B 6 8.5 9 9 

C 4 9.0 12 6 

 

VIII. Answer any Four of the following questions in 12 sentences each. 4 × 4 = 16  

(Each question carries 4 marks) 

32. Indicate the volume and direction of trade at the time of Independence. 

33. Write the economic justification of the policy of Subsidies. . 

34. Education is considered to be an important input for the development of the nation. How ?  

35. Explain the drawbacks of agriculture marketing.  

36. Explain the suggestions given by Herm Daly to achieve sustainable development.  

37. Explain the reasons for slow growth and re-emergence of the poverty in Pakistan. 
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PART – D 

IX. Answer any one of the following questions in 20 sentences each. 1× 6 = 6  

(Each question carries 6 marks) 

38. The following table shows the enrollment by gender at school of children aged 6-14 years in a district 

of Bihar. Draw a component bar diagram by using this data. 

Gender Enrolled (%) Drop Outs (%) 

Boys 91.5 8.5 

Girls 58.6 41.4 

Total 78 22 

 

39. Calculate   Q1 , Q2 and Q3 from the following data  

 22,26,14,30,18, 11,35,41,12,32. 

X. Answer any one of the following questions in 20 sentences each.  1× 6 = 6  

(Each question carries 6 marks) 

40.  Briefly explain the important area of  liberalisation .  

41. Write a note on the changing structure in the employment formation.  

 

 

PART – E 

XI. Answer any Two of the following project and assignment oriented questions.  2 × 5 = 10  

(Each question carries 5 marks) 

42. Suppose you are a research student and you are asked to conduct a sample survey about the mid- day meal 

programme in school. Prepare a good questionnaire to support your survey. 

43. Identify the public sector industries and private sector industries in the following list  

 

1. Larsen and Turbo Ltd. 

2. Bharath Earth Movers Ltd. 

3. HDFC bank Ltd 

4. Bharath Heavy Electricals Ltd 

5. Reliance industries Ltd. 

6. Hindustan Aeronautics Ltd 

7. Bharti Airtel Ltd  

8. Infosys Ltd. 

9. Indian Oil corporation Ltd. 

10. Bharath Sanchar Nigam  

Ltd. 

44. Make a list of any five items that can be recycled.  

 

 

 

 

 

***** 

 


